Assembly Instructions

ASPN 345-GRY OPEN CREDENZA SKU # 26034378
ASPN 345-BLU OPEN CREDENZA  SKU # 26034479
ASPN 345-WHI OPEN CREDENZA  SKU # 26034570

ASPN 344-GRY RETURN FOR CREDENZA  SKU # 26134370
ASPN 344-BLU RETURN FOR CREDENZA  SKU # 26134471
ASPN 344-WHI RETURN FOR CREDENZA  SKU # 26134572

***Caution: Please read all instructions carefully before starting the assembly process. These parts are cumbersome and heavy. Therefore, two people
are recommended in order to prevent personal injury and ensure the parts are not damaged during the assembly.

Code Parts List for ASPN 344 Step | Code Hardware List for ASPN 344
2-1 Allen Bolt - ©@1/4x38mm 14 Pcs
1 Return To g > 1Pc
P 3 A | Lock Washer - @1/4 @)\m@“\\“‘“‘ 14 Pcs
> | End Panel @ 1 Pc 4 Flat Washer - @1/4x19x1.5mm 14 Pcs
2.2 Allen Bolt - ©@1/4x19mm 8 Pcs
B | Lock Washer - @1/4 AP 8 Pcs
3 |Wood Stretcher — 1Pc 3 3\
Flat Washer - @1/4x19x1.5mm 8 Pcs
4 |Wood Block \‘- 2 Pcs Allen Bolt - ©@1/4x102mm 2 Pcs
g
3 C | Lock Washer - @1/4 @),,m\m@\“\“\“““" 2 Pcs
5 |"L"Metal Bracket 2 Pcs Flat Washer - @1/4x19x1.5mm 2 Pcs
2/3/4 D | Allen Key - 4mm D 1Pc
TOOLS REQUIRED (NOT PROVIDED)
PHILLIPS SCREWDRIVER
4 I ' I
Open Credenza Open Credenza
Return for credenza
Return for credenza || _—— Ontion 1 Option 2
| |
N ption &) N ption 2

Hardware Pack Location(S):

ASPN 344-GRY RETURN FOR CREDENZA  SKU # 26134370
ASPN 344-BLU RETURN FOR CREDENZA SKU # 26134471
ASPN 344-WHI RETURN FOR CREDENZA  SKU # 26134572

This product is manufactured by ASPN for

ROOMSTO GO)

MADE IN VIETNAM

10F3




Assembly Instructions

ASPN 345-GRY OPEN CREDENZA SKU # 26034378

ASPN 345-BLU OPEN CREDENZA  SKU # 26034479

ASPN 345-WHI OPEN CREDENZA  SKU # 26034570
ASPN 344-GRY RETURN FOR CREDENZA  SKU # 26134370
ASPN 344-BLU RETURN FOR CREDENZA  SKU # 26134471
ASPN 344-WHI RETURN FOR CREDENZA  SKU # 26134572

***Caution: Please read all instructions carefully before starting the assembly process. These parts are cumbersome and heavy. Therefore, two people
are recommended in order to prevent personal injury and ensure the parts are not damaged during the assembly.

STEP 1: Put the return top (1) face down on a soft surface.

STEP 2-1: Attach the wood stretcher (3) and wood blocks (4) to the return top (1) by using
7 bolts (A) with an allen key (D) as shown below. Do not completely tighten bolts.

STEP 2-2: Attach the "L" metal brackets (5) to the return top (1) by using 4 bolts (B) with
an allen key (D) as shown below. Do not completely tighten bolts.

- ~
P

‘D= "L" Metal Bracket @%D

STEP 3: Attach the end panel (2) to the return top (1) by using
4 bolts (B), 1 bolt (A) and 2 bolts (C) with an allen key (D) as
shown below. Completely tighten all bolts. <

For OPTION 1:

STEP 4: Attach the assembled return for
credenza to the left of the open credenza by
using 6 bolts (A) with an allen key (D) as
shown right. Completely tighten all bolts.

Return For Credenza

Open Credenza

This product is manufactured by ASPN for ROOMS TO GO }

MADE IN VIETNAM 20F3




Assembly Instructions

ASPN 345-GRY OPEN CREDENZA SKU # 26034378

ASPN 345-BLU OPEN CREDENZA  SKU # 26034479

ASPN 345-WHI OPEN CREDENZA  SKU # 26034570
ASPN 344-GRY RETURN FOR CREDENZA  SKU # 26134370
ASPN 344-BLU RETURN FOR CREDENZA  SKU # 26134471
ASPN 344-WHI RETURN FOR CREDENZA  SKU # 26134572

For OPTION 2:

STEP 4: Attach the assembled return for
credenza to the right of the open credenza
by using 6 bolts (A) with an allen key (D) as
shown right. Completely tighten all bolts.

FUNCTIONALITY INSTRUCTION

OPTION 1:

Open Credenza

Return for credenza

OPTION 2:

2 AC outlet -----
Power Pack

Open Credenza

Adjust the leveler
when necessary

Levelers on base ---——-—- % &

***Caution: Please read all instructions carefully before starting the assembly process. These parts are cumbersome and heavy. Therefore, two people
are recommended in order to prevent personal injury and ensure the parts are not damaged during the assembly.

Return for credenza

... 2AC outlet
——  Power Pack

Adjust the leveler
when necessary

Return for credenza

Levelers on base

This product is manufactured by ASPN for

ROOMSTO GO)

MADE IN VIETNAM

30F3




‘sajopejdepe 201N 1 AJNYOUD [d anbyIpow ON
91qnedwod 2JUILLIOD P BWO) BUN B JUIWIRIOIIP O[QJNYOU
ajongn[ un so Ou OIS "SOUIU SOJ 9P SUEBO[E [Op BION] JOUSURIA
*9JUSLIIOD 9P SBWIO) O UQISULIX 9P S[QED IBZI[IIN ON »
*00LI}OP[ [qED [d AII)SO TU 90INJ ON]  »
"QJNYOUD [ O 0OLIOY[S
9[qed [ Jeuep Ie)IAd kied OJUSIWIAOW AP OWSIUBIAW |9 O sejed sef
‘oseq B[ op ofeqop 91s9 Ou 0911IY[2 2[qed [2 onb op osomIose ‘Terodo [y
*9JUSLLIOORIIO) [OP JNYOUD [ AINAI
ogon| ‘opeSede op uororsod e[ & SO[01U0D SO SOPO) AIIT IBJOAUOISIP BIRJ o
"IO[BD 9P SAJuANJ Se1no
A soquores soroyradns op solo] 9Jnyoud [0 A 00119[2 J[qeO [ BSUAUBIN
‘uaredar o] A usurwexs of anb eied 0O101AISS Op ONUSD
un e owe] A ojusruredinba o)so resn op ofo(q “enSe [e OpIed BY 9S O OpPRURP
BY 9S 00L1}99[ JNYIUS [2 0 J[EJ [2 IS O ‘DJUSWEIIALIOD BUOIOUNJ OU IS
‘OpeyEp 09LIIO9[3 9JNYOUS O J[qED UN UL IS OLIOSAVOE 9)s9 910d0 BOUNN]  «
‘soyred 1ejnb 0 1850100 Op SOJUE SJUSLLIOOBWIO) [OP JNYIUSSS( o
:SeUO0SIId © SOUOISI O SBILIII[I SB3I8ISIP
‘sorpuddul ‘seanpewdanb ap 031 [3 anpaa eied :YIDNALIIAAV

‘oreredar o ofzerdwiy op
SOJUE BOLIIOP[O SJUSLLIOD O BUIO) B[ P OLIOSAIOR 9)$3 9JN{oudsop 21dwarg
1BILI)IIA BSABISIP 9P 0FSILI [3 IDNPAI eaed — OAOITAd
‘OLIRI[IqOUI 3)S9 JBSN IP SAJUL SAUOIINIISUI SB] SBPOo) J39]
SA-1102OH

ALT°0J ONILLHOIT NNSIONH
VZI /2ZH09 DVAOTI

VORLLOFTA
VOIVOSAQ 1od AINANN © OIANAONI F800A0xd opond osn [ew [

ONINdVM VY

SIINVHOdWI AVAldnoS3as 3d SANOIDDONYLSNI

‘s10ydepe Aue osn 10 Snid oy) Ajipowr jou oq

*J93[00S [eoL199]d o[quedwos € ojur AJoa1p Snjd .

*K0) ® 10U SI SIY], "UQIP[IYD JO YoeaI JO Ino dooy «

‘sdins 19mod 10 SPI0D UOISUIIX SN JOU O

‘PI09 [BOL1}O[S YJJOH)S IO UIN)S JOU O]
‘3n1d 10 109 [BOINIS]S 0) 9FBWERP PIOAR 0) WSIUBYIIW UOTIOUT

10 ‘s39] ‘oseq Q) I9pUN JOU ST PIOJ [BILNII]Q Jey) aInsud ‘Funerddo usypy
19130

woyy 3njd srowar uay) ‘uonisod Jo 9y} 0} SJONUOD [[B UIN) JOUUOISIP O,
'$92IN0S JBaY

JOUJO puk SOOBJINS Pajedy wolj Aeme Snjd pue p10d [eo11)09]0 oy} dody] .
‘Iredo pue UONRUIIEXS 10] IOJUSD OOIAIOS
® [[eo pue Surystuany siy) Sursn doyg “1038M O3uT paddoip 10 paSewep
u09q sey gnyd 10 p109 [BOINOI[2 oy} JI 10 ‘A[1odo1d Furyrom jou sI 1 JI

‘3nyd 10 p105 [BOINOJ[S paSewrep & sey 1 J1 SurystuIng sy} 9Je1odo I0AON .

‘syred go Sunye) 10 uo Sumnd a1030q Jopno woyy Snjdun .

ssuosaad

0) Aanfur 10 “I0Ys LI A1y ‘Suanq Jo MSLI Y) dNPaI o], — HONINIA VA
“SuIoIAIRS

10 SuIue9[d 910§2q J[INO [BILIOJ[S Ay} WO Jurysiuing siy) Snjdun skem[y  «

$20YS JLIIIIA JO YSLI AY) dNPAL 0], — YAONVA

-‘Surystuany siy) SuIsn J.10J3( SUONINIISUI [[B PBIY
d-1102OH

ALT°0D ONILHOITNNSEONH
VCI1 /ZH09 DVAOTI

SDOHS TVORLLOHATH Aq HIVA( 10 HI Ul JjNsaI Ued 9SNSI

ONINYVM

SNOILLONYWLSNI ALddVS INVLIOdNI

HSINVdS

HSTTONA




	IA777 HO for BF-VN -06012022 Model (1)
	IA777 HO for BF-VN -06012022 Model (1)
	IA777 HO for BF-VN -06012022 Model (1)

